HaEbEA ABs

H—SHEHRN (BT TEREBMIERR)
ENBMEEINZETRE

(B) HH4F4818 (¥) HH5E3R31H

(B4 @ )
HERE FHE(A) RE(B) ZR(A)-(B) "=

BRI - ERZBEINA 248, 646, 051 248, 461, 368 184, 683
EERBE AT BN TIBBEIRA 0 0
RERETMSINA 250, 000 250, 000 0

i ”A SEVISELSINA 12,710 12,808 -98
| [HREAEHEERT E R F AR 0 0
#| |zotoRA 5,894, 837 2,602, 431 3,292, 406
(| |BgsEERA (1) 254, 803, 598 251,326, 607 3,476, 991
& A 191,070, 069 190, 552, 293 517,776
j‘; BEETH 33,608, 315 33,862,176 -253, 861
% | [FEEZE 19, 161, 508 19, 435, 601 -274, 093
EERBE T AN IER 10, 000 10, 000 0
BEEHZLE (2) 243, 849, 892 243, 860, 070 -10,178
BEIHEDINZER (3) = (1) - (2) 10, 953, 706 7,466, 537 3,487,169
B | Y | iR ma &I 3, 648, 000 -3, 648,000
f’? A MR mBUIAGt (4) 0 3, 648, 000 -3, 648, 000
? % |EEEEEEH 35,337, 270 35,542, 670 ~205, 400
5 | e E (5) 35,337, 270 35,542, 670 ~205, 400
% |MEREHSERUNEERE (6) = (4) — (5) -35, 337, 270 31,894, 670 -3, 442, 600
At | UR, | AT EEEERAAUR A 33,091, 850 33,091, 850 0
DA |zotEBIRAL (7) 33,091, 850 33,091, 850 0
’; " I EELH 6, 160, 810 5,800, 810 360, 000
I e 0 0
r| |eotoEBZLE (8) 6, 160, 810 5,800, 810 360, 000
% |20MOEBHERRTELE (9) = (7) - (8) 26,931, 040 27,291, 040 -360, 000
FHEZH (10) 2,500, 000 2,500, 000
LEIESINTEREST (11) = (3) + (6) + (9) — (10) 47,476 2,862, 907 -2, 815, 431
BIER I ERES (12) 192, 223, 662 192, 223, 662 0
LHRTIEERES (11) + (12) 192,271,138 195, 086, 569 -2, 815, 431




